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1. Find Vq, with respect to the terminals a-b in the circuit shown below when vs = 15 V,
Ri=R,=150Q,and b=1.
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a)loV

b)8V

c)l2V

d)14v

€) None of the above

2. Find Ry, with respect to the terminals a-b for the circuit in problem 1.

a)l0Q
b) 30 Q
c)50Q
d) 70 Q
e) None of the above

3. The switch in the circuit shown below has been closed for a very long time before it opens at {
= 0. Find the energy stored in the inductor at 1 = 0"

=0

a) 900 J
b) 400 J
c)2001]
d) 100J
€) None of the above



4. In the circuit of problem 3, Find i(f)at1=10.333 s.

a) 3.68 A
b)0.92 A
c) 1.84 A
d)2.76 A
€)5.52 A

5. Consider the figure shown below, determine the output voltage when I=1 mA
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a) -2.2volts
b) -4.4 volts
¢) - 6.6 volts39
d) - 8.8 volts

€) None of the above

6. Consider the Figure shown below, determine the output voltage given that v1=1 volts.
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a) Vo, =8 volts
b) vgour =6 volts
C) Vout =4volts
d) vou =2 volts
e) None of the above

7. For the circuit shown below, the switch has been in its position for a long period of time.
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What is the value of the current in the inductor i} att=07?

a) OmA

b) 1 mA

c) 10 mA

d) 50 mA

e) None of the above

8. The figure shown below is equivalent to a single inductor having an equivalent inductance of
15 Henries. Determine L
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a) L=8H

b) L=20H

c) L=40H

d) L=120H

e) None of the above

9. Find the Thevenin equivalent voltage seen between terminals ab if V1 = 3VandRIl =
10Q2.
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a) 50V
b) 13V
c) 17V
d) 15V

e) None of the above



10) The switch was open for a long time before it closes at t=0. Find the

voltage across the

capacitor after t = 1t (one time constant after closing the switch) given that R = 10 k€.
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a) 037V

b) 0.65V

c) 029V

d) 1V

e) None of the above

11) The switch was closed for a long time. It opens at t=0. Find the total
capacitors at t=0, given that C = 1pF.
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a) 136 pJ
b) 104 pJ
c) 100 pJ
d) 721

e) None of the above



12. Assume in the following circuit L;=3 H, L,=2 H, L3=26H, and M=5H. Find the mesh
equation around i2.

dig di2 dil

a) 4Tt+7F—GE—=1+4z:=O
za'z'g+5a'i2 7a’i1 o A=

b) “ar @ 'ar T T
dig di2 dil

C) a,t+2§‘—6?—11+4l==0
3a‘1‘g+7a'z'2 8a'il A i e
d) @ " ar  “a rTHaST

e) None of the above

13. In the circuit shown below, find the output voltage V, if V=2V V=1V assuming that all
operational amplifiers are ideal and operating in their linear region.
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a) 14V
b) -14V
c) -28V
d) 28V
e) None of the above



14. In the circuit shown below, calculate the maximum power that can be dissipated by R; if

Vx=6V.
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a) 4.5W
b) 18W
c) 24.5W
d) 12W

e) None of the above



